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Choose the correct answer from a, b, cor d:
o Nora couldn't ... a butterfly when she was young.
a) catch b) catching ¢) catches d) caught
9 A helps the pilot and works for the airline.
a) chef b) teacher c) farmer d) copilot
© on, Mona. Don't give up.
a) Do b) Walk c) Come d) Make
O How many female pilots work foryour ........................... ?
a) museum b) airline ) bank d) school
EDoyou ..o some?
a) wants b) wanted ¢) wanting d) want
. .

duclai_ Ul wijll

: 0l 93Y | Cpi Las Aol dylsy | sl -
Y OIS e JE e dadiang Aoyl Db Aualai®¥ | Aol 8 s NPy
(e - dall - delicall - 5)ld1)
e oy yoF ol dorlw Jobo e Zuun) ¥ ugeyll wal e @)
(ol ple = dmudall = by - daSd1)
e Sl 5l §F 5555 bl 0 @)
Olaw¥ 1 glah)) = plSod) slud - Y5 (olax| - ;5411 L))

e Byms 1 Aol yel) Jald waus as @)
(S = Ll 5 = Lawidp = Glalla)

J
sasosm( O



() 00
fo1 A ¢ Y¢S

(\or .SV ¥ .9) S = Gl disLus Ol o ¥ ady> Jsbo 2Sa ()
(\S— NS N=0N) ="7(W-) (v )
PO = aclalyl O e ¢ et T ld lieys e Aplod | dis Luce S latus S5l5ie @)

(\§.10.5,0)

(S W) X =5l s @
(iitciciOLic\) ............... =°£+°\i a
(\F,0.1\F.¥) PO = laylad Caml Jobo O e T ¥ lgalaw dxLua 5530 (@)

F s dll G Los domall Gl ¥ | s
S O QreSI rluall Al pins o
(posiagt ¥l = Cpilusidl = ulsidl = yasdl)
e e sbyeSH By s @
(ol ! = 3lad) = Soldigyall - eausn | donall)
e o Aaday JS 1A (e Sy oLl rlams Dopil plas Slasy @)
(d9awgd dsle = poysguall = Gulsill = 34301)
o LygSU ALl gl cye R : )
(posiast¥l = Lulsidl = yasdl - 71 31)

®
\

)



Choose the correct answer:

0(_1)8+(_1)9=. ..................

a) 1 b) -1 C) zero d) -2

9 The value of 2% (_2)43 =
(=2)x(2)

a) 23 b) -23 c)-24 d) 2¢
€ 3.610,15and

a) 25 b) 21 19 d) 20
O A cuboid box with a square base of side length 10 cm and its heightis 7 cm,

then the lateral surface area of the box = - cm?,

a) 280 b) 308 c) 700 d) 490
6 The circumference of a circle is 88 cm, then its area = - cm?. (n: = 27—2)

a) 308 b) 616 c) 196 d) 98
0 A cube, the area of its face = 9 cm?, then its total surface area = - cm’,

a) 45 b) 81 c) 18 d) 54
0 A circle of diameter length 14 cm is divided into 7 equal circular sectors, then the surface area

of one sector = . cm’. (n = 27—2)

a) 154 b) 22 c) 44 d) 49

Choose the correct answer:

o The electric lamp is used to change electric energy into -......... energy.

a) sound b) light ) potential d) kinetic
9 The filament of light bulbs is made of - .

a)iron b) copper ¢) sodium d) tungsten
9 Among the bad conductors of electricity is - .
a) aluminum b) copper ) iron d) plastic

o Connecting more than one electric device in the same socket leads to the - .

a) electric overload b) electric shock

¢) electric burn d) All the previous answers
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a) bank b) cinema ¢) home d) kindergarten
@) Whendidshe ..., to Seoul?
a) went b) goes c) go d) going
€) Laila, come tothefrontand ... to ten.
a) peel b) catch ¢) throw d) count
O ..................................... is the capital of Egypt.
a) Cairo b) London c) Paris d) Honolulu
@ Whenshe ... little, she could blow a bubble.
a) is b) are c) was d) were
\ o
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Choose the correct answer:

0 (=4)3 (= 2)6

a) < b) > Q)= d) otherwise

9 If x =1, y=-2, then the negative number in the following is -

a)x+y? b) x?-y Qx’+y d) x* +y?
9 5% 22 =
a) 27 b) 47 o)1 d) 23
D47, ,13 and 16.
a)10 b) 11 12 d)9
e The circumference of the circle = X 7T
ar b) 2r ar? dr+2
6 The total surface area of a cube is 150 cm?, then its side length is - cm.
a) 25 b) 4 o5 d)15
0 In the opposite figure: D 8 em A
ABCD is a rectangle, its length is 8 cm and its width is 7 cm,
then the area of the shaded part = - cm?, (n: = 27—2) 7em
a) 8.5 b) 38.5
Q175 d) 56 c B
Choose the correct answer:
o In the series connection, the electric current will flow through - ‘
a) one path b) two paths
¢) several paths d) No correct answer
9 The glass tube of the fluorescent lamp contains . .
a) neon gas b) argon gas
¢) argon and a little amount of mercury vapor  d) (a) and (b)
9 Water is not used in putting out fires resulting from electricity because - .
a) water is a bad conductor of electricity b) water is a good conductor of electricity
c) water doesn’t harm rescuers d) water limits the fire
9 ---------------------- results from passing an electric current through the human body.
a) Electric fire b) Electric overload
) Electric insulators d) Electric shock
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Choose the correct answer from a, b, cord:
o Wedliketo ... Captain Marwa for the school newspaper.
a) play b) read C) interview d) pass
@) Please, writethe ... “C"on the board.
a) letter b) litter C) name d) number
€ Noha ..o, clever, she knows the answers.
a) are b) was c) were d)is
@) Wewerethere ... five days.
a) of b) for ) to d) at
@ Monaisa ..o pilot.
a) male b) female ¢) boy d) man
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c) = d) otherwise

c) x? d) -x

a) (3)° b) (-2) -6 d;

9 1193
411 I 4 I 1 1

a) E b) Z C) 1 4_1 d) 2
6 The perimeter of the base of a cuboid is 10 cm, its height is 4 cm, then its lateral area

= s cma.

a) 14 b) 400 c) 40 d) 160
GThe surface area of a circle =7t X -

a)r b) r? C) 2r d) % r
GA circle of diameter length 10 cm, its area = - T CM?2.

a) 100 b) 50 c) 25 d)5

Choose the correct answer:

o When lamps are connected in parallel, the electric current will have . .

a) one route b) two routes ¢) branched routes d) No correct answer
9 When an electric lamp connected in series with other lamps is broken or burnt, the other lamps - .
a) increase in light intensity b) decrease in light intensity
c) turn off d) remain as they are
€) The electric shock may lead to ... :
a) death b) the electric overload  ¢) the electric fire d) (a) and (c)

o Among the precautions when dealing with electricity is - .

a) not to play with the electric connections b) not to insert metal objects in electric sockets

€) not to turn too many electrical devices at the same time  d) All the previous answers
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